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QUESTION 1

Which two factors are used in calculating the Cisco SD WAN - 1yr, 3yr, or 5yr subscription cost? (Choose two.) 

A. Service Bandwidth 

B. Security 

C. Routing Protocol 

D. Features 

E. Hypervisor Platform 

Correct Answer: AD 

 

 

QUESTION 2

Which three statements are true regarding Cisco SDWAN license tiers? (Choose three.) 

A. With Pro license, control and data policies are supported 

B. With Plus license, split-tunnel is supported 

C. With Pro license, unlimited segmentations are supported 

D. With Plus license, Hub and spoke, partial mesh are supported 

E. With Enterprise license, vAnalytics is included 

F. With Enterprise license, TCP optimization is not supported 

Correct Answer: ABE 

 

QUESTION 3

Which three technologies are used in an SD-Access Fabric? (Choose three.) 

A. MPLS 

B. TrustSec 

C. VXLAN 

D. OTV 

E. LISP 

F. RSVP 
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Correct Answer: BCE 

MPLS is an transport protocol such as VXLAN but is NOT used in SDA. The answer should be VXLAN, TrustSec and
LISP 

 

QUESTION 4

Which three statements best describe Cisco ISE configuration capabilities? (Choose three.) 

A. ISE Deployment Assistant (IDA) is a built in application designed to accelerate the deployment of Cisco Identity
Service Engine (ISE) 

B. Cisco ISE includes wireless setup wizard and visibility wizard. 

C. ISE requires an understanding of the command line for set-up and configuration. 

D. ISE wizards and pre-canned configurations ease ISE roll-out significantly. 

E. Cisco Active Advisor provides additional guidance for ISE deployments 

Correct Answer: ABE 

 

QUESTION 5

Which are three Cisco recommendations on "How to Win"? (Choose three.) 

A. Talk about Cisco\\'s focus on Security and integration with StealthWatch, Sourcefire, WSA, vulnerability scanner to
make smarter policy decisions. 

B. Explain support for 3rd party network devices. 

C. Explain architectural advantage of holistic Cisco solution. 

D. Demonstrate complex policy flows, rather show case Wizards and enhanced context visibility. 

E. Show case Cisco portfolio or ISE feature set during PoC 

Correct Answer: ABC 
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